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2009E = 2O & 2BHS|
2N HEDS
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SN -BH - S(B) - MRAY - BES 0f &k il b o HRE2
HERE 95, 184 107,260 ~12,076
IR Ol 23t 51,390 72,300 £20,910
FOIME 2% a3 51,390 72,300 £20,910
S0y =Sy X 34,000 34,000 0
01 Yereaz 34,000 34,000 0
056 S-2-9¥BESFNI 34,000 34,000 0
OsT+Y 200, 00024+ 102 122 24,000
OSEA02 200, 0002 * 108 %23} 4,000
OSHBIFALY 20,0002 +10%+25]* 122 4,800
SEEEEINE 25,0008 +242 23] 1,200
FOIRAE 29 4,840 1,840 3,000
201 Yeregy) 4,440 0 4,440
01 At el 4,440 0 4,440
OFURAARS S 20,0002 * 122 1,440
OFQINXISINE 5l BH4Y
25% +10,0002 122 3,000
01 Yereaz 400 1,840 A1,440
04 ANSLHHFSH 400 400 0
OXHS 2 & OH 21 0FAL | 400
SARI % Xy 22 5,950 29,860 £23,910
201 Yere ) 4,510 10,660 £6,150
02 Iz 4,510 10,660 76,150
O 2| 2,020
O X2 & Bt 1,190
OSARIZR I 1,300
402 IR0 1,440 1,200 240
02 PI2FCHE A b 1,440 1,200 240
ORoIg= 2 gt 20,0009 %122 1,440
SLAE 2Y 6.600 6,600 0
201 Ysr2gH) 6,600 6.600 0
REEEET 6,600 6,600 0
OXsts &®II22 X 550, 0002 * 122 6.600
HYS YA (HFRE) 43,794 34,960 8,834
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